LetX={=1,0,1}.Y=1{0,2anda ABLES .

function 1 : X\—)X detined b, 15 /o
(a) one-one ontol

(b) one-one into = 1\1
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The signum function, f: R — R is given by ABLES
| ; if x>0 B
f (x) =<0, 1£x=01s
=l 1f.
(a) one-one (b) onto
%&ny—one (d) None of these
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For binary operatlo defmed on R— ABLES ora

{1} such thatga—b

(a) notq'/

(b) not commutaﬂ?@ \§ r&/\

(c) commutative b

Mh (a) and (b) Th ‘
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(c)
(d)

f(x)
3t(x)
[f ()]
None of t

\famwﬁ

g@y_

(H~1)

(1-n)>

% Ho).- q%rbﬂwbm%l
a- b)yq3 K- %b-fS%Z

1+ ’fn“
)4 @




Let f: R— {3} —>R§e defined by f(x
o 3x+2 “(M 3)1-;3%@/
S 5x—3 ‘\3/

A0 = f(x)) -\ Bt Q- 57y, 3 Y

0) flx=-fx) —
© @Rr-x 2 3ftas Bng n
@ 0= 5t = %y&, A(5973)
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IfR= { @w then R is ABLES
(a, reﬂexw but not symmetric

(b) symmetric and transitive Q Cj,z){‘k @/ s —Kl @ AR

(c er reflexive nor symmetric nor

transitive C?'( Z% 1

(d) Symmetric but not reflexiv w
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Which of the following functions from Z ABTES®KOTA

into Z ar 1]ee (é
(a) f(x)=x’ ) =X T
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Which of the following 1s not a binary

@» on the indicated set?
* defined bf *b= a\b)

(b) On(Z?) * defined by a *b—

(¢) "/ deﬁnedbya* M&M) '
(d) None of the above
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Congtder the-following statements
_/Addifion, subtraction and
mt@ﬂ lication are binary operations on

H 1 1s10n 1‘nary operation on R) but

ot a binary operation non-zero rea )

mbers. qy b @ /

OnlyIistrue -
(b) OnlyII 1s true

(¢) Both I and II are true
(d) Neither I nor II 1s true
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LetA={l,2, 3} and B={a, b, ¢}, and
let £={(1, a), (2,b), (P, ¢)}be a function
fronf A to B ¥or the fu.nctit@ be
one-one and onto, the value of P =

(a) 1 (b) 2
(Q/ (d) 4
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